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Grade 2 - Unit 5: Two-Digit Subtraction
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Targets
A = Achieved Target
NA = Nearly Achieved Target
D = Did Not Meet Target


                   

-------------------------------------------------------Target 1 ------------
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     Show how you broke it apart.  You may use the number line.
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      Show how you broke it apart.  You may use the number line.
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Draw a quick picture to solve. What is the difference?

Tens Ones.
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Break apart the number you are subtracting. What is the difference?
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Y2-11=____
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Which shows a different way to
write this subtraction problem?

86 - 31

o 86 o8I
-3l - 36
55 45

o 68 o 16
- 13 -1
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What is the difference?
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- What is the difference?
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Subtract 23 from 62. Write
how many tens and ones are in
the difference.

tens.

ones.
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Use the number line. Count up to find the difference.

30 31 32 33 34 35 36 37 98 39 HO Ml 42 43 44 U5 46 47 48 9 50

45-388=___
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Write the difference.
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Write the difference.
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Draw a quick picture to solve.
Write the difference.
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image17.png
. Break apart the number you are subtracting.
Write the difference.

20 21 22 23 24 25 26 27 28 29 30 31 92 33 34 3 36 37 38 39 4O

Yo-18=___
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Mrs. Chang made 54 muffins.
She gives away some muffins.
She has 32 muffins left. How
many muffins did she give
away?
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Tyler has 43 cubes. Emily has
27 cubes. How many fewer
cubes does Emily have than
Tyler?
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Sam has 46 balloons. She
sells some of the balloons.
Now Sam has 29 balloons.
Which number senfence can
be used to find how many
balloons she sold?

ous — [l =29
ous+17 =l
029 +46 =l

029 -=17
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There are 82 marbles in a bag.
There are 54 marbles in a box.
How many more marbles are
in the bag than the box?

more marbles
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Javier has 15 straws. Mindy

has 3 more straws than Javier.
How many straws do they
have together?

straws
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Alex found 63 shells. He lost 14 shells.
How many shells does he have left?

— shells
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Tyrone planted 32 sunflower
seeds. Maxwell planted 3 more
sunflower seeds than Tyrone.
How many sunflower seeds did
they plant in all?
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Caleb has 23 magnets. He
buys 13 more magnets. Then
he gives 5 magnets fo Miles.
How many magnets does
Caleb have now?
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There were some apples.
Children ate 16 apples. Now
there are 26 apples. How many
apples were there to start?

Write a number sentence for
the problem. Use a . for the
missing number. Then solve.
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Use the number line.

Abe saw 38 different animals at the zoo. Juanita

saw 9 fewer animals than Abe. How many animals

did Juanita see?

T T S T S ST S ST N

1
20 21 22 23 24 25 26 27 28 29 30 31 32 33 M 35 36 37 3B 39 4O

animals

Explain how you used the number line to solve the problem.
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The soccer club needs 75 oranges for a soccer
game. Tyrone brings 27 oranges. Sara brings 2 more
oranges than Tyrone. How many oranges

do Tyrone and Sara bring altogether?

oranges
How many more oranges does the soccer club need?

more oranges

Draw or write fo show how you found the answer.
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Break apart ones to subtract. What is the difference?
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Use the number line. Count up to find the difference.

T T T T T T T T T T S S N
A A S s s I B B e
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53 -47=___
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